		0.000 70
LEVINCTON EAVETTE LIDBAN COLINTY COVEDNMENT CONTRACT CLIANO		January 31, 2010
LEAINGION-FATELLE URBAN COUNTT GOVERNMENT CONTRACT CHANGE	Contract Modification:	3
	CONTRACT #:	221-2016
PROJECT: UK Trunk A		
TO: Tribute Contracting & Consultants LLC		
Original Contract Amount		\$2,767,032.00
Cumulative Amount of Previous Contract Modifications		\$0.00
Percent Change of Previous Contract Modifications		%0
Existing Contract Amount \$2,767,032.00		\$2,767,032.00
Net (increase/decrease) in Contract Amount - (From following pages)		-\$322,049.53
Percent Change of This Contract Modification		-12.00%
Original Contract Amount \$2,767,032.00	***************************************	\$2,767,032.00
Cumulative Amount of all Contract Modifications		-\$322,049.53
Percent Change of all Contract Modifications		-12.00%
New Contract Amount Including this Change Order \$2,444,982.47		\$2,444,982.47
Recommended by DCLA Zer (Pro	(Proj. Engr.)	Date 2/6/2018
Accepted by (Cc	(Consultant)	Date
	(Contractor)	Date 2/4/18
Approved by Left 4/2/18 Phip Manager (Di	(Director)	Date 4/2/18
Approved by Dowlly Hospie flu: 4/26/18	(Commissioner)	Date 4/26/18
Approved by (M.	(Mayor or CAO)	Date 11/24, 2018
))		

	LEXI	LEXINGTON-FAYETTE URBAN COUNTY GOVERNMENT	MEN		DATE:	January 31, 2018	
		CONTRACT MODIFICATION			Contract Mod #:	3	
					CONTRACT #:	221-2016	
Pro	Project:	UK Trunk A					
	Ë	Tribute Contracting & Consultants LLC					
		You are hereby requested to comply with the following changes from the contract plans and specifications;	llowing	g changes	from the contract	plans and specifications;	
Item No.	ADD / DEL	Description of changes	Units	Quantity	Unit Price	Decrease in contract price	Increase in contract price
-	ADD	Final Adjusting Change Order	rs	-	\$ 1.00	\$ 322,049.53	-
2						У	· •
3						· &	, \$
4						· •	У
5						- -	
9			-			- \$	- &
						· •	· •
80						·	, \$
6						, 6	د ا
10						د	- &
-						٠,	٠ د
12						-	٠ &
13						٠ •	\$
14						· ·	- 8
15		15				- \$	\$
Total d	Total decrease					\$ 322,049.53	
Total ir	ıcrease	Total increase .					\$
Net (in	orease) i	Net (increase) in contract price					\$ (322,049.53)
			200	1 06 4			

			Page 3 of 3
		PROJECT:	UK Trunk A
J	USTIFICATION FOR CHANGE	CONTRACT NO.	221-2016
		CHANGE ORDER:	3
1.	Necessity for change:		
2.	Is proposed change an alternate	bid?Yes _X_I	No
3.	Will proposed change alter the p	physical size of the pr	roject?Yes <u>X</u> No
	If "Yes", explain.		
4.	Effect of this change on other pr	ime contractors: N/A	•
5 .	Has consent of surety been obta	ained?Yes _X_N	lot Necessary
6.	Will this change affect expiration	n or extent of insuran	ce coverage?Yes X_No
	If "Yes", will the policies be exte	nded?YesN	o
7.	Effect on operation and mainter	nance costs: N/A	
8.	Effect on contract completion da	ate: N/A	•
) Mayor	Date 3,2018



CHARLES MARTIN DIRECTOR WATER QUALITY

TO:

Mayor Jim Gray

Urban County Council

FROM:

Charles H. Martin, P.E., Director

Division of Water Quality

DATE:

April 2, 2018

SUBJECT:

Change Order #3 (Final Adjusting) – UK Trunk A

Request

The Division of Water Quality requests approval of Final Adjusting Change Order #3 to Tribute Contracting & Consulting LLC decreasing the cost of the UK Trunk A Sewer Project by \$322,049.53, from \$2,767,032.00 to \$2,444,982.47.

Purpose of Request

The requested change order is to adjust all original estimated pay item quantities to reflect the actual installed amounts.

Project Cost in FY18 and in Future Budget Years

The change order results in a decrease of \$322,049.53 to the contract.

Are Funds Budgeted

Yes

Funds are budgeted in: 4003 303408 3466 92811 UKTRUNKA_2014 CONSENT_DE 2014

Martin/Hoskins-Squier



SANITARY SEWERS REMEDIAL MEASURES PLAN CONTRACT CHANGE ORDER FORM

Project Name:	UK Trunk A		
Contractor:	Tribute Cont	tracting & Consulting LLC	
Contract Number:	Bid # 78-202	16, RES #454-2016	
RMP Project ID:	TB-4		
Change Order ID Number:	<u> 3 (Final)</u>		
Applicable Tier:	1		
CHANGE ORDER DETAILS			
Contract Amount	\$2,767,032.00	Contract Time	422
Original Contract Amount:	\$2,767,032.00	_ Original Contract Time	365
Change in Contract			
Amount	(\$322,049.53)	Change in Contract Time	e <u>0</u>
New Contract Amount:	\$2,444,982.47	New Contract Time	422
REQUIRED SIGNATURES			
Tier 1 Vumon Arun	do		,./8
Remedial Measures Plan o	r Construction Ma	anager Date	
Tier 2			
Remedial Magastres Plan o	r Construction Ma	anager Date	-2-18
Director of the Division of	Water Quality	Date	
Director of the Division of	Purchasing	Date	
URBAN COUNTY COUNCIL	. NOTIFICATION	.3- /	15-18
Employee Submitting Noti	fication	Date	<u> </u>

		OBDED NO	3	
		ORDER NO.	Final Adjusting	
CONTRACT CHANGE O	ORDER	DATE		
			October 9, 2017	
		STATE		
			Kentucky	
CONTRACT FOR		COUNTY	ayette	
LFUCG Trunk A Sewer			ayette	
OWNER Lexington-Fayette Urban County Government				· ·····
To Tribute Contracting & Consulting LLC				
(Cor You are hereby requested to comply with the following changes from the contract	ntractor) plans and specif	fications:		
Description of Changes		DECREASE	INCREAS	E
(Supplemental Plans and Specifications Attached)	in	Contract Price	in Contract F	rice
Final Adjusting Change Order		-322,049.53		
(See Attached) TOTALS NET CHANGE IN CONTRACT PRICE		-\$322,049.53		\$0.00
JUSTIFICATION: Final Adusting Quantities				
The amount of the Contract will be (Decreased) (United three hundred twenty two thousand forty-nine and			-\$322,049.53).
The Contract Total Including this and previous Change Orders Wil		two million		
four hundred forty four thousand nine hundred eighty-two and	47/1	00 Dollars (\$2,444,982.47).
The Contract Period Provided for Completion Will Be (Increased) This Document will become a supplement to the contract and all p Requested Lexington-Fayette Urban Gounty Government Recommended	(Decreased) (Usprovisions will app	Jnchanged) : ply hereto.	0 0 - 10 (Date) 10 - 10 - 10	Days.
Accepted Tribute Contracting & Consulting LLC			(Date)	17

dunen ini street bavilla			_	5.		3		_
added concrete at bridge opening	4,400.00	22 \$		2,000.00	Т	200.00	СҮ	Site Work Concrete, 3
	800.00			800.00	2 \$	400.00	ΕA	_
	2,644.00		26	2,900.00	2900 \$	1.00	듀	
-	2,400.00			2,400.00	3 \$	800.00	EA	Ш
UK Trunk "B" included	22,000.00	22 \$		20,000.00	20 \$	1,000.00	EΑ	21D Pipe Abandonment, Cut & Cap, 24"
	6,000.00			7,000.00	7 \$	1,000.00	ΕĀ	
UK Frunk "B" included	10,400.00			6,400.00	∞ &	800.00	ΕA	
4	300.00			3,000.00	10 \$	300.00	ΕA	Pipe Abandonment,
	-	-		900.00	9 \$	100.00	ΕĄ	_
,		_		2,100.00	3 \$	700.00	ΕA	Manhole Diaphram.,
	2,000.00	1		2,000.00	4	500.00	ΕA	_
	900.00	_		900.00	1	450.00	ş	7C Manhole Barrel Extensions, 8' Dia.
	7,740.00	9 64	ی	10,600.00	Ť	200.00	f	17B Manhole Barrel Extensions, 6' Dia.
IIIIIOI Cilaiige III giodila cicyanori	7 740 00	_	3 .	200.00	1	100.00	f	7A Manhole Barrel Extensions, 4' Dia.
minor change in ground elevation	350 00	_		17,000.00	+	17,000.00	I S	16B Doghouse Manhole, 10' Dia. 6.0'
				17,000.00		7,000.00	֭֭֚֓֓֓֓֓֟֟֝֓֓֓֓֓֓֓֓֓֓֟֝֟֝֓֓֓֓֓֓֓֓֓֓֓֓֓֓֓	▙
-	-			7,000,00	A 6	7,000.00	;\5	1
	8,000.00			8,000.00	59	8 000 00	Ę,	Standard Manhole & Dia
change in alignment	70,000.00	14 \$		55,000.00	11	5.000.00	ΕA	Standard Manhole 6' Dia 0 - 6
	18,200.00			18,200.00	7 \$	2,600.00	E	_
£ 9 4		€		4,700.00		4,700.00	ΕA	15B Shallow Manhole, 6' Dia. 0- 5'
	2,000.00	_		5,200.00	2 5	2,600.00	ΕA	15A Shallow Manhole, 4' Dia. 0-5'
	2 600 00			5 200.00) N	20.00	֭֭֚֚֓֓֝֝֓֓֓֟֝֟֝֓֓֓֓֓֓֓֓֓֓֓֓֓֓֓֓֓֓֓֓֓֓֓֓֓	╄
6" installed instead of 4"	2 520 00	3		360.00	o -	180.00	5	-
	450.00	_		1 650 00	11	150 00	ווייייייייייייייייייייייייייייייייייי	1
				700.00	<u></u>	700.00		38 Remove Exhisting 6' Manhole
	1	0 \$		1,500.00	3 \$	500	Ę	_
UK Trunk "B" manholes included	18,900.00	•		11,700.00	13 \$	900	ΕA	-+
		0 \$		3,000.00	1 \$	3000	Ē	Temp 24" Connection to Manhole
				1,800.00	<u>-</u>	1800	ΕA	11B Connect 42" to exist. 42" Sewer, Seal & Grout 42" in MH
	2,000.00	8		3,000.00	ယ	1,000.00	Ę	_
cipp piaced through bridge	144,360.00		4	135,000.00	T	360	두	
	,	6		1,200.00	T	200	ΕÃ	9 4" Back Trap Valve w/Access Pipe
	1,300.00			3,640.00	t	260	ΕA	
	1 560.00			2,040.00	Т	00.021	Ę.	<u> </u>
dilici ci occi il a ci oci acpai	00.007			2,000.00	\top	250.00	\ \ -	1
differences in trench depth estimate	19 250 00	77 \$		12,000,00	_	350.00	+	1
differences in trench depth estim	126.730.00	5	5	115 690 00	503 \$	220.00	+	#2 Gravity sewer ripe (Dir, FNT, FVC, FCC)
	44,660.00		20	44,660.00		220.00	- !	71 April Gravity Sewer Pine (DIP ERP PVC PCCP) 6 1'-10'
	,	0 \$		2,808.00	13 •	216	F	- 1
differences in trench depth estimate	138,040.00	93 \$	49	38,640.00	138 \$	280	F	- 1
				96,722.00	353 \$	274	ᄕ	- 1
	101,475.00		3	112,200.00	408 \$	275	두	_
differences in trench depth estimate	44,550.00	65 \$	ā	22,680.00		270	두	42" Gravity Sewer Pipe (DIP CL 50) 0-6'
	2,340.00			2,070.00		90	두	7D 8" Gravity Sewer Pipe, (DIP CL 50 w/Nitrile) 6.1'-10'
additional line removed at mannole	11,250.00			10,725.00	143 \$	75	드	8" Gravity Sewer Pipe (DIP CL 50 w/N
change in alignment	12,524.00		20	11,656.00	188 \$	62	Ę	_
change in alignment	24,480.00	408 \$	4	22,260.00	П	60	뉴	
	3,480.00		_	1,200.00	20 \$	60	두	
6" laterals installed instead of 4	12,150.00		2,	2,500.00	50 \$	50	두	6" Gravity Sewer Lateral, PVC (SDR 35)
	350.00			34,100.00	1	50	듀	6B 4" Gravity Sewer Lateral, PVC (SDR 35) 6.0'-10'
	7,830.00	+-	1	17,010.00	Т	45	F	6A 4" Gravity Sewer Lateral, PVC (SDR 35) 0-6'
1	4,000.00	_		4,000.00	<u>_</u>	4,000	LS	5 Erosion Control & Conformance w/ SWPPP
	5,000.00	49		5,000.00	-1 -\$	5,000.00	LS	4 Demobilization
	196,800.00	69		196,800.00	- <u>-</u> -	196,800.00	LS	3 General Requirements
	55,000.00	4		55,000.00	-	55,000.00	LS.	2 Bonds and Insurance
	42,700.00	5		42,700.00	1 \$	42,700.00	LS	1 Mobilization
Comments	xtension	y Extension	Quantity	Extension	Quantity Extension	Unit Price	Unit	No. Description

					00000	[10 Iniscendiacons one improvementa
	256,645.40	0.733273 \$	350,000.00		350000	S	_
changed alignment increased excavation	67,676.00	2417 \$	56,000.00		28	CY:	60 Rock Removal
	-	0	3.000.00	_	300	×.	1
		0	100.00	10 \$	10	+	Electronic Arrow Boar
	495.00	9	550.00	10 \$	55	ᄧ	_
3	,	0 \$	700.00	10 \$	70	托	_
9.7	1	0 \$	700.00	T	70		_
	1	0 \$	800.00	10 \$	80	eer HR	
===		0 5	1,100.00		110	L	63A Large Track Hoe, CAT 311 or Equiv., as dir. by Engineer
		0	900.00	-	90	HR	62B Dump Truck, Tandem or Tri-Axle, as dir. by Engineer
1111		-	650.00	П	65	HR.	_
		0 \$	1,200.00	П	120	HR	_
			12,000.00		80		
	-	0	4,000.00	T	400	П	59 Vacuum/Hydraulic Jet/Hydro Excavator, as dir. by Engineer
198	7,000.00		7,000.00	<u>-1</u>	7000		
	54,000.00	+	54,000.00		54000	LS	_
	87,261.00	+	87,261.00		87261	LS	56 Town Branch Pipe Bridge Concrete Renov.
additional well discovered	12,000.00	N &	6,000.00		6000	S.	55 Monitoring Well Removal and Closure
odditional wall disposared	43,000.00	-	23,000.00		23000	LS	54 USTs Removal, Disposal and Closure
	22 000 00	4309.69 \$	283,500.00	4500 \$	63	TON	_
	27 540 47	3	12,200.00	1	12200	LS:	52 Maintenance of Traffic
	000.00	o c	12,000.00	9 6	200	5 5	1
	600 00	သ င နာ နေ	3,000.00	十	300] 기天	50D Bypass Pumping, ≥36" <48" Sewer Line
	10,000.00	<u> </u>	79 060 00	1	200	 	Bypass Pumping,
	00 083 00		130,000.00		8 2	 	<u>L</u>
	4 725 00		35 300.00	Т	22	33	╄
	1 529 00		36 060 00	_	3000	5 5	_
	•		72 000 00	$^{+}$	36000	75	49C Bypass rumping setup, 224 100 sewer Line
	31 500 00		63 000 00	D -	10500	n n	
added setups for this item for temporary connections	40 000 00	л c	8,000.00	A 6	0000	ח אל	┸
	7 200 00		16.800.00	\top	200.0	ָרָק ק	1
			1,000.00	\neg	300		
	1.680.00	28 \$	1 800 00	丁	S0.00	7	┷
			1 050 00	\top	35.00	- C	\bot
	9,179.00		13.400.00	T	67.00	2	┸
de de la constant de	1,200.00		2.000.00	ヿ	200 00	2 3	45 Elouphie (Controlled Density) Fill
d a s	•		2,100.00	100 \$	21.00	TON:	_
	1		2,100.00	1	21.00	7 0 2	
	•		11,000.00	500 \$	22.00	TON:	A) No o Crished Stone Extra as directed by Engineer
			12,800.00	T	16.00	TON	
added curbs in several locations	18,680.00		5,760.00	144 \$	40.00	<u></u>	40 Concrete Curb Removal and Replacement
			6,250.00	7	25.00	SY	
seeded park and entire lots	12,033.60	7521 \$	1.280.00	一	1.60	ςγ	38 Speding Permanent
	,	0 6	4 800 00	十	3 00	2	\perp
	-	\neg	400.00	200	200	2 5	35 Remove and Replace Curb box lines (15 dia. 1 pe)
417	1.500.00	_	3 000 00) . S	1 500 00	ם <u>ר</u>	┸
	1	7	800 00	T	800	<u>_</u>	
***	-,000.00	⊃ ō	4 140 00	36.4	115		33B Storm Sewer Removal and Replacement (24)
	1 600.00	\neg	3,000.00	╅	ŝ	15	١.
DELEGORE CHOCK (CV. C)	L	0 6	3 000.00	1	300	15	<u> </u>
BelMesse Street (IJK B)	┙		200.00	Т	200	5 5	┺
striped BeWeese Street (UK B)	\perp	300 5	600.00	50 6	3 0	0	1
DEPOUDE SW	00.00		\$ 500.00	T	SE 90	201	┺
	360.00		16,800.00	1	140.00	S	L.
	5 740 00		2,800.00	1-	70	SY	28 Bituminous Conc. Private Parking Lots/Driveways
added full street paving	182,565.00	4057 \$	36,000.00	\top	45	SY	27 Bituminous Concrete: Full Width Paving, Street
Comments		Quantity		Quantity	Unit Price	Unit	No. Description
	ontract -	- Adjusted Contract -	Original Contract -	- Original C			ltem
							Construction Quantities

_
0
ŝ
5
2
Ó
=

		•					
	\$ 2,444,982.47		\$ 2,767,032.00				
Comments	Extension	Quantity	Extension	Quantity	Unit Price	Description Unit	No
Comments	1		9.10.00			lell	
	usted Contract -	·A	riginal Contract -	- -		itom	

Page 3 of 3



LaDonna Roberts

From: Michael Cravens

Sent: Wednesday, April 4, 2018 9:51 AM

To: Commisioner EQ PW Exec Asst; Dowell Hoskins-Squier

Cc: LaDonna Roberts; Charles Martin

Subject: RE: Law Review: UK Trunk A Final Adjusting Change Order

I have reviewed this request for authorization for the Mayor to execute the final adjusting change order for the UK Trunk A project, decreasing the contract price by the sum of \$322,049.53 from \$2,767,032.00 to \$2,444,982.47. I have no legal issues with this request.

Michael Cravens

Attorney Senior Department of Law

859.258.3500 MCravens@lexingtonky.gov lexingtonky.gov



NOTICE OF CONFIDENTIALITY

This message is intended only for the use of the individual or entity to which it is addressed and may contain confidential information that is legally privileged and exempt from disclosure under applicable law, including but not limited to, Kentucky Rule of Evidence 503. Any legal opinion provided in this electronic mail transmission is provided in the course of my legal representation of the Lexington-Fayette Urban County Government and should not be disseminated to the public. If the reader of this message is not the intended recipient, you are notified that any dissemination, distribution or copying of this communication is strictly prohibited. If you have received this communication in error, delete it from your system without copying or forwarding it, and notify the sender of the error by replying via e-mail or by calling the Department of Law at (859) 258-3500, so that our address record can be corrected. Thank you.

From: Commissioner EQ PW Exec Asst Sent: Tuesday, April 3, 2018 3:54 PM

To: Janet Graham < jgraham@lexingtonky.gov>; Michael Cravens < mcravens@lexingtonky.gov>

Cc: Dowell Hoskins-Squier < dhoskinssquier@lexingtonky.gov>; Charles Martin < chmartin@lexingtonky.gov>

Subject: FW: Law Review: UK Trunk A Final Adjusting Change Order

Janet, can you please have Michael review prior to input in Legistar.

Sandy 3401

Sandra Sue Burke

Executive Assistant to Dowell Hoskins-Squier
Commissioner, Department of Environmental Quality & Public Works

859.258.3400 office 859.684.3493 cell lexingtonky.gov



From: LaDonna Roberts

Sent: Tuesday, April 03, 2018 2:38 PM

To: Commissioner EQ PW Exec Asst < commeqpwea@lexingtonky.gov>

Subject: Law Review: UK Trunk A Final Adjusting Change Order

Sandy,

Please send the attached to law for review, so we can begin the Legistar process.

Thanks,

LaDonna Roberts

Administrative Specialist Division of Water Quality

859.258.3362 office lexingtonky.gov

